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1, =584 (XA, sentence negation)?] 94 (ambiguity)

D

noo oo P

oo} &7 thelA (semantic ambiguity; Russell 1905)

3423 o}l (pragmatic ambiguity; Horn 1985, 1989) - %749 metalinguistic use

249 ko)A (scope ambiguity; May 1977) - %3Ael 849 oujes HFo s

274 9&37 tpoA (focus-sensitive ambiguity; Kiparsky and Kiparsky 1970, Chomsky 1971,
Jackendoff 1972, Rooth 1985, Koktova 1987, Kratzer 1991, Krifka 1991, Partee 1991, van
Valin and Lapolla 1997, Zubizarreta 1998, and references therein)

2) The king of France is not bold.

a
b

3) a

internal negation: 3x (Kx AVy (Ky =y = x) A ~Bx)
. external negation: ~3Ix (Kx AVy (Ky = y = x) A Bx) (cf. (1) in Horn 1989 364)

Some men aren’t chauvinists - all men are chauvinists

b I didn’t mange to trap two mongeese - I managed to trap two mongooses

4) a.

5) a.

. I'm not his_daughter - he is my farther. (cf. Horn 1985:132-3)

I didn’t wonder why the king of France is bold

(=1 wondered why the king of France is not bold)

#1 didn’t wonder how he managed to trap two mongeese. [ wondered how he managee to
trap two mongooses.

Everyone chdn't come.
For everyone didn’t smile (= no one smiled), we got everyone refrained from smiling

c. At Somebody didn’t come. B' (Yes, in fact) everybody didn’t come. (from Horn 1989 227-8)

6) a.

JOHN didn't talk to May - BILL did.
. John didn't TALK to May - he SENT her E-MAIL.

¢ John didn’t talk to MARY - he talked to SUSAN. (from Valin and Lapolla 1997)

7 a.

8) a.

He doesn’t think she’ll COME. (= He thinks she’ll not come.)
He DOESn’t think she’ll come. (= It is not true he thinks she will come.)

. He doesn’t THINK she'll come. (= 'thinking’ is not a good expression of it.)

(from Hofmann 1993 48)
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2. B¥AY 23 JENT T FE:

9) 249 ALY A4
a. EHAL BAAT (negation phrase)E ©] &t} (cf. Kayne 1989, Pollock 1989, Chomsky 1989).
b, B A9 & Spec AEol YA LAY EAE ofv] ot (Rizzi 1990, Beghelli and

Stowell 1997, Haegeman 1995 cf. also Quhalla 1990, Aoun and Li 1993, Hornstein 1995)

10) a. Why don't I believe (t) that John was fired (*t)? (inner island effect)

11)

12)

b. Some does not love everyone (xthe distributive reading)

EAH olF How
BRAe A3 FTHLE olFu, Hul4 7 (morphological checking)g ¢ olF gl

a E¥AHL BA AT AF (adverbiaD2H, 283 F4 A (modification relation)§ &t}
BRAE 2R84 AEY NNE wELEN, 2248 FHHoR Fo8E 2y

(negating)9] 71%& 74t} (cf Koktova 1987, cf. also Jesperson 1917)

b 2L 24 ARG 98 BAATY SpecAH R o1 E 8 T, cliticization °©1Y} incorporation
4082 FAME 940 Hedog P kA B THA JAE EHA 49
(domain)& FA o2 B &9 (cf [+sn] and [+wh]).

~neg-[B .. 1. -=> ..neg .t-[B. 1.

13) a. #8A ] e 2] ofulel zta dol At

b. ¥ FAA 44L& E¥Ae FAH, g4 “73"’11 jAEY, FA BEE o] F ol &9

14) a. Terry is not running to Brooklyn

b. (but rather [a dnving to the Bronx]).
c. (but rather [B to the Bronx]).

15) a Surprisingly, Terry is running to Brooklyn

b (not [a driving to the Bronx]).
¢ (not [B to the Bronx]). (cf. (1C-D) in Koktova 1987:178)

16) a. A47F Gnk=A HAT

17) Chomsky's (1973) Not-°} %

b, AF7t MEA HA F%G

T3 (a rule of Not-Movement): E¥A3 ojFd ‘@&’
(association)®d A& FRA 2AL9E FAIG (cf Fischer 1968).

18) a. I didn’t see pictures of many of the children. (amb)

b. I didn't see John’s pictures of many of the children. (unamb)

19) a. Not many of the pictures are such that I saw them.

b. Many of the pictures are such that I didn’t see them. (cf. (46-7) in Chomsky 1973))



3. TAEEAY oA =AZA:

A) THE CONSTITUENCY PROBLEM (F4&E&A)

20) a. John did not kill Mary.
b. It was not John and Mary who were involved in the killing. (cf. (4) in Gabbay and
Moravcsik 1978)

21) a. John only introduced BILL to SUE. (cf. (39) in Rooth 1996)
b John did not introduce BILL to SUE. 1 introduced SUE to BILL.

B) THE SUBJACENCY PROBLEM (1A ZAEA])

22y a. I din't buy [HIS book] (but I bought HER book)
b *Whose did you buy [ t book]?

23) Neg-raising contexts vs. Non-neg-raising contexts
a. I don’t think that John met MARY. I think that John met JUDY.
b I don’t know that John met MARY. I know that John met JUDY.

24) a I didn’t wonder whether John met MARY. I wondered whether John met JUDY.
b. I didn’t come to meet MARY. I came to meet JUDY.
¢ I didn't see a man who wore a RED shirt I saw a man who wore a BLUE shirt

4. B 24944 44

e

(25) John even gave his daughter a new bicycle.
(26) a. JOHN even gave his daughter a new bicycle.
b. John even gave his DAUGHTER a new bicycle.
c. John even gave HIS daughter a new bicycle.
d. John even gave his daughter a NEW bicycle.
e. John even gave his daughter a new BICYCLE.
f. John even GAVE his daughter a new bicycle. (cf. (6.87) and (6.89) in Jackendoff 1972)

27) Johns claims that he could sell refrigerators to the Eskimos, but in fact he couldn’t even
sell WHISKEY to the INDIANS. ((6¢) in Anderson 1972)

28) a #I only introduced Bill to THE LINGUIST DURING THE SUMMER.
b #John only met BILL YESTERDAY. (Richard Kayne, personal communication)

29) a. #1 even introduced Bill to THE LINGUIST DURING THE SUMMER.
b. #John even met BILL YESTERDAY.



30) a. #John didn’t introduce Bill to THE LINGUIST DURING THE SUMMER.
b. #John didn’t meet BILL YESTERDAY.

3 a FFe AFE €79A% ove, €38 A AU
b. #38E H4E oAt okl €88 25 &‘7&‘3}
c. #38E AFE 4=87] AAA7 ohie £38 FRE 47 994 T Aol

32) a. 48 A4E A ol WEE 8 A 24
b #38e AFE AV U &5 E oA Wtk
c. #9498 A5 E dEsr] fAAAIT okvel, 8 E owsr] A8 Tk

33) a. [f7 He wasn’t [f6 warned to [f5 look out for [f4 an ex-convict [f3 with [f2 a red [f1
SHIRT 1IN

b. i. No, he was warned to look our for an ex-convict with a red [f1 TIEL
i, No, he was warned to look our for an ex-convict with [f2 a CARNATIONI.
iii, No, he was warned to look our for an ex-convict [f3 wearing DUNGAREES].
iv, No, he was warned to look our for [f4 an AUTOMOBILE salesman]
v No, he was wamned to [f5 expect a visit from the FBIL
vi, No, he was [f6 simply told to be more cautious].
vii. No, [f7 nothing was said to anyone]. (cf. (652-4) in Chomsky 1971)

34) a. It is not that I dislike it, but that I cannot afford it.
b. The question is not how we should do it but why we should do 1t
¢. What I did is not keep it but improve it.

3B)a 2HE SEEAY 24T A 23 (VAe, 2822 Y £ UT (Chomsky
197, 2¥ALe 23T TAAY gAE Fed
b 2HE $2EAU A A& Aol don, 4z F¥EH. FAEY TIE B
c. E&EF 2L 49 Agd Bestm, A 2YLe ERAYY FAH X 449
ciskideg

B aly YO B . neg-lf..T . 1.1 ==>
b. [YP neg [Y' YO[B .. [6-If .. T .. 3] N (YP = RAATF; f = 238F, T=33)
37) ¥4 (negaung)®} FAHH ¥4 (syntactic negating)
a BAMY A& BRAN 25YFd #AE 9, (YU E) B A4 k9 By
=
b, BRAL 2AYFAY gt o) 2HE £4E 5 Aot (of ¥AHHH A4 (unselective

¢ ZEE F N O¥ FAL F AW, ¥YHE 27 @ FH2AA glojol gk

&3] st ol 4 ZF 4% 2] FALY YAHE 2HEG



5. £RA3 Fapae] gud FsaA

39 a d8e ZE sl & gxAE ashEkA ddrh

40

41)

42)

43)

44)

45)

b

C.
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a.

o a0 g P
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[+ =T el

o ooo»

Yenghi introduced some students a foreigner.
Yenghi didn’t mtroduce every student a particular foreigner. (She introduced every student
some other foreigners )

#Yenghi introduced some students some other foreigners.

28 347 @ 4 staxA ged

Some professors teach a student.

Every professor teaches more than one student.
#Some professors teach more than one student.

2E 247 @ 4 A2AA 2Eg dRE @ 48 stadd 290, dRE sy
oae stz
4RE 247) @ A st2AA gbd 9RE & o4g sl2dd, a1 9%e @

]

$4g Fhean

257t o] ol & #HusA gt

For this reason, everyone was not-fired

Everyone was fired not for this reason. (They all are fired for some other reasons.)
Some (not all) were fired for this reason,

#Some were fired not for this reason

#For this reason, some were not-fired

#Everyone was not-fired not for this reason (but for some other reasons)

257} o] o2 ZAHHA F& Ak dusE, 57} olv] o o2 FFHAY] HEojch

a.

a.

b.

C.

BRI o] o2 dnHA Fch

L AF7 B8 v sk

243 Fshae 249 el 9 4 o
FHAE BEAT 10 19 BAS

Fetabsh 2ol FEY AL 230 $MUFLz FAHEG

6. st AH=AEZ A9 FAEA (the projection problem)

46) a. I even believe that FRESHMEN could solve the problem.

b.

c.

She even regretted that she bought the COAT.
John even has the idea that HE is tall for a Watusi. (from Anderson 1972)

47) a. He did not believe that she met everyone. (the "some” reading)

-5~



b. He did not know that she met everyone. (*the “some” reading)

48) a AFE 957t 25 Yohn YA gech
b AFE A2t BFE URd A& FYHA gech
49) CNPC:
a e BE7 gvhe (939) B WA Ay
b AFe EZFAA U & (2) FEE AA &skth (cf. the Specificity Condition)

50) The wh-island Constraint:
a UE ZEVF BAE dER FEA ¥Uunh (strong island)
b. e 2F7 23& MEA FEHA @Udtk. (weak island)

51) The Adjunct Condition and The Subject condition:
a By 5 487 & uuz] gk
b. 57} wiyche 1 Abde] WolxA ggit

52) ¥shAbAl ek
¥ 2L Bk AFHA FRA-GANEAE etk 2HEFVL CFCE £88 4 4,
FTEABL 1 e $SAE AR BEd)
53) a. Kiparsky and Kiparsky (1970): A& #AHA v+ (what is presupposed is not
negated), ==> A ALY QA+ HA &
b. 2785 BAHLE R vEPYFE

nonfocus in Dryer 1996)

ol
b
A
_m
0
}m

FAHA gErh (cf focus vs.

. I don’t think [f that John met MARY]
. I don’t think that John met [f MARY]
1 didn’t know [f (the fact) [ that John met MARY]L
.+ didn’t know [ (the fact) [ that John met [f MARY]]]. (cf. Kiparsky and Kiparsky 1970)

o T o ®

55) a " 98l nhz] ggitl, mEy £33 U‘qu
b %é—’?%:— HEg @ 3 7k ged 2y FE4dE aF gk

56) a. Ye A7 43 WHdn AdetA ged
b, #vE vt 45e E’}B&C}E AHEE A B
c. Ve Bt 48§ wEvhe AL 47 R (oYY £33 wyteE e g3

AR )
57) a B57} o] olg 2 smEAE sl
b 47} 25E wUAE 2%,

58) a »A#dFIE BE HYL Sxaga Y@

c. */#EAF7 REE O



59) a. 2% (714 B (S} 4L AFHE/EN A 2y
b e [FE7F Ae(E/E 2@ FF3A gk
c. BFE (8{EAE T 8@ o471 24 &3
d. 25 (€87 d3{E/E) tuns AAR)] 432 9A ot

60) a WZZHEA (the contrastive marker)i= AH4lo] 2H & AU, FR A o] 239}
FHEE &Y
b, &%) o]%& stE WY, REHEXNE o)FdA ¥x, 2R g dx G4
(contrastive null operator)7} B4 2.2 o] gt uwelA, dER2HEA Y HAE
FAojel o) # 99} Fdsich

61) a. John doesn’t think that Bill didn't go.
b. John thinks that Bill went.
c. John thinks that Bill didn’t not go. (cf. Jackendoff 1971)

62) a 1% [B A7|M w3 £& YA ¥ 1 AE] BX Ry
b e B 487 AeE A #teA] FEHA g0,
c e [8 a9 AR 7] H&A] HutA ggkth
d EFE B 987 2Rd& A ddthe Ade] €3 A gk

mlo 2

63) a Who wonders what he bought?
b I didn't ask why he didn’t leave.
c. I do not regret that I didn't leave.

64) a. Z2HEEA 2 YFE} Agste BB 24 &3 ¥4 (focus-sensitive particle).
b. B3 2HEF (closed focus category): 2HHF9 AHde 2H 447 duj&zyes
FE B 49 (eg EFH0 dg4 g4 ¥ FAHAF T2 YP n (36).
65) 24¥F FA 4
A 2483 Wi ® & 24 23WURE /MY 4 da, B 2¥YSE £ OE
23T E 948 5 Uk

i [YPneg ... t .. [YPnegc.. tc.. 1I
ii. [YP neg .. t-[YP negx .. tx .. 1l

66) 71& JHA: dgAtE BRAETG & F49¢ etk (AREAE 23dE 4 )

67) a. 257} ¥7& wuix SeuUs
b. 7 REE gy oLAq”}v
¢ 2t BFE oUA WA U



68) a.

69) a.

70) a.

1) a.

72) a.

73) a.

74) a.

. dgre P78

75) a.
b.
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.. [YP neg,
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